i
. 5 Ry

it}
H
L

H— KL — &4

=R EE

R7IE EEIOQOLHS BE - L
I = % .
BhEEMMERE T =

B R 4

4

—fixEE 1955

T %= & Ar| BERIZEE Lt

=

M m 4| FE

e R 1:1,000 ME®ES 1.3

FEEXEE L FEREHRCERRELBMEI<BE>




%
0%

e

o [T

—l

e —————— S S

v

>< H—FL—LEE 1=79.0m

11111700}

= HeE% A R
R7IE EEIOQOLHS BE - L
T = % i
BhEMMSE TS
iR e E —MEE1955
T = & pr| HEEHERTH Lt
m % FEH
i R 1:1,000 NEES 2,/3
EEEZ EEEEIHREERERE T B mi<IBE>




5
i

B
B # Wy

Y
~7
F“.‘
!I
ﬂ
|
.’
(0] |
| |
o |
H&Dd A% L=180.0 W=12.6~8.0K r"
> 19603 fﬂ
\ f
\\ "i
EiEXETXmE
R B = I -
T % j?ﬁﬁi EE195%5 HE- Lt
PhEEMiSiE TS
B2 E —#%EE1958
T = & pr| HEEHERTH Lt
m % ¥FEX
e R 1:1,000 MNEES 3,/3

BEREHRSERRR L BMHIB<IBE>




